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PCA: Aux. data
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PCA: Labels
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Density

Density: Aux. data
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Density

VisitStationaryFreqs 0 0

Density: Labels
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VisitStationaryFreqs 0 0 estimate

Train estimates: VisitStationaryFreqs_0_0O
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VisitStationaryFreqs 0 1 estimate

Train estimates: VisitStationaryFreqs _0_1
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VisitStationaryFreqs 0 2 estimate

Train estimates: VisitStationaryFreqs_0_2
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VisitStationaryFreqs 0 3 estimate
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Train estimates: VisitStationaryFreqs_0_4
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VisitStationaryFreqs 0 0 estimate

Test estimates: VisitStationaryFreqs 0 0O
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Test estimates: VisitStationaryFreqs_0_1
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VisitStationaryFreqs 0 2 estimate

Test estimates: VisitStationaryFreqs_0_2
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Test estimates: VisitStationaryFreqs 0 3
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VisitStationaryFreqs 0 4 estimate

Test estimates: VisitStationaryFreqs_0 4
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m;aué:l-)iﬁ?gnr (1. 9. 500) '"%“;I'jﬁ?ém (1, 22)
| J Y
float input: | (1, 9, 500) float input: | (1, 22)
depth:1 output: | (1, 9, 500) depth:1 output: | (1, 22)
convid | input: | (1,9, 500) convid | 1nput: | (1,9, 500) convid | input: | (1,9, 500) Linear | Tmput: | (1, 22)
depth:l |5 tput: | (1, 64, 500) depth:l [ tput: | (1, 64, 165) depth:l [ oyeput: | (1. 32, 500) depth:l [ output: | (1, 128)
s input: | (1, 64, 500) relu input: | (1, 64, 165) Sl input: | (1, 32, 500) relu input: | (1, 128)
depth:l [ 5 tput: | (1, 64, 500) depth:l [ output: | (1, 64, 165) depth:l [ output: | (1, 32, 500) depth:l | output: | (1. 128)
Y ) J Y Y
convid | input: | (1. 64, 500) convid | 1nput: | (1, 64, 165) convid | input: | (1, 32, 500) Linear | input: | (1,128)
depth:l | 5 utput: | (1. 96, 500) depth:l | output: | (1, 96, 27) depth:l | o ytput: | (1. 64, 500) depth:l | output: | (1. 64)
ol input: | (1, 96, 500) relu input: | (1, 96, 27) el input: | (1, 64, 500) s input: | (1, 64)
depth:l [ o utput: | (1. 96, 500) depth:l [ output: | (1, 96, 27) depth:l [ output: | (1, 64, 500) depth:l | output: | (1. 64)
Convld | Tnput: (1. 96, 500) Linear | NPUt: (1, 64)
depth:1 output: | (1, 128, 500) depth:1 output: | (1, 32)
Y Y
= input: | (1, 128, 500) AdsptivesnBaalid input: | (1. 96, 27) ks input: | (1, 32)
depth:1 output: | (1, 128, 500) depth:1 output: | (1, 96, 1) Bepiit output: | (1, 32)
AdaptivefvgPoolld input: | (1, 128, 500) AdaptiveAvgPoolld input: | (1, 64, 500) unsqueeze IpL: (1.32)
depth:1 output: | (1,128, 1) depth:1 output: | (1, 64, 1) depth:1 output: | (1, 32, 1)
cat input: | (1, 128, 1). (1, 96, 1), (1, 64, 1), (1, 32, 1)
depth:1 output; (1. 320, 1)
L
e input: | (1. 320, 1)
depth:l output: (320,)
Linear | input: | (320)) Linear | input: | (320)) Linear | iMPUt: | (320.)
depth:1 output: | (128.) depth:l output: | (128.) depth:1 output: | (128.)
vealis input: | (128,) - input: | (128,) c=lis input: | (128,)
depth:1 output: | (128,) depth:1 output: | (128, depth:l output: | (128,)
Y Y Y
Linear | 'MPUE (128,) Linear | 'MPUE (128,) Linear | 'MPUE (128.)
depth:1 output: | (64,) depth:1 output: | (64,) depth:1 output: | (64,)
e input: | (64,) el input: | (64,) e input: | (64,)
dEpth:l output: (64,) dEpth:l output: (64,) dEpth:l output: (64,)
Linear | inpPut: [ (84.) Linear | input: | (64,) Linear | input: | (64.)
depth:1 output: | (32,) depth:l output: | (32.) depth:1 output: | (32,)
Y Y | .
B input: | (32,) = input: | (32,) e input: | (32,)
depth:1 output: | (32,) depth:1 output: | (32,) depth:1 output: | (32,)
Linear | inpPut: [ (32.) Linear | inPut: | (32.) Linegr | iMput: [(32)
depth:1 output: | (5.) depth:1 output: | (5,) depth:1 output; | (5.)

'

output-tensor
depth:0

(5.)

'

output-tensor
depth:0

(5.)

'

output-tensor
depth:0

(5.)




